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River crossing problem

A farmer must transport a fox, a goose, and some grain across a river.
He/She has a boat which can only carry him/her and one other thing.
If the farmer is not present, the fox will eat the goose. If the goose and
the grain are left together alone, the goose will eat the grain.

Help the farmer cross the river. How can she/he transport everything across the river? How
many trips will it take?

Cut out the items below. Try to put them in the boat and bring them across the river in turn,
If you have two items that shouldn't be left together you can simply start again. It is ok to try
different moves at random but if you are not making progress, you need to reflect on what
you are doing that is not working. Make sure to try a different way the next time.

J1aGipUHT rosoBosIoOMKa!

depmMep NOBUHEH NnepeBe3Ty Yyepes piuky JINCULLKO, Tycaky | TPOXU 3epHa.

Y HbOrO € YOBEH, AKNI MOXe NepeBO3UTU TiZIbKWN NOrOo i LLie 04HY piu.

Akwo depmepa HeMae, NMMcmUa 3'iCTb rycaky. SKLWO rycka i 3epHO 3a1MLWaTbLCA Pa3oM Ha
CaMoTi, rycka 3'icTb 3epHo.

JonoMoxXiTe GepmMepy nepeTHYTH piuky. AK pepmMep Moxe nepeBe3T BCe Yepes pPiuKky?
CKinbKu Moi3fok ue 3ammMe? BupixxTe HaBegeHi Huxuye efieMeHTU. CnpobyriTe MOMICTUTK IX Y
YOBEH i MepeBe3TH IX Yepes piuKky No Yepsi, AKLLLO0 Y BaC € ABa NpeaMeTy, SKi He cij,
3a/1MWaTn pPa3omMm, B MOXeTe NMPOCTO NMoYaT 3HOBY. MOXHa cnpobyBaTh Pi3HI KPOKY
HaBMaHHS, ane AKLOo B/ He JOCATraETe Nporpecy, B NOBUHHI NOAyMaTu Npo Te, WO BU
pobuTe, Lo He npaLoe. HacTynHoro pasy cnpobyinTe iHWKA cnocib.

You can find more at
B moxeTe 3HanTn Binblue Ha
www.mathsweek.ie
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